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I Continued analysis of Xn»13, specifically disagreement between ywn> "1 and ™
a  Proposal: they disagree as to whether nursing is a sign of having birthed
i y”1 most animals that nurse have birthed - if nursing, already n1372
ii ~ »”r a minority of them nurse without birthing = may be n12°a 8
1 Challenge: yv1n "1 is not V1M WWIN, per his dissent re: mother-in-law who left town pregnant (and she had
no other brothers-in-law and her husband subsequently died w/o children)
(a) " a majority of pregnant women have live births, but 50% have daughters; add that to minority who
miscarry = 211 that she didn’t have living son, therefore, widow may remarry w/o n¥'9n
2 Rather: reverse alignment =" maintains that nursing is a 109, ™ disagrees
I 2:1 mmoa knaown: a kid that had triplets (all F) and they each had triplets — all enter corral together for 2”yn
a w7 saw that she was 1wyn during the year (i.e. mother was also in same corral for 2"yn)
i Question: why the need for 3x3? 2 of them could have had 2 each+3+3 mothers=10
1  Answer: since at least one of them has to have 3, it was easier to teach 3x3
it Question: why have 3 from any of them (which is unusual)? Why not structure the case so that each has 2 and
then mother has another 1? (3+6+1=10)?
1 Answer: perhaps the author holds that nayon cannot later have a child during that year
(a) Correction: perhaps nayon could have a child during the year; but not a n75»
iii  Analysis of w”7's dissent: wherein lies their disagreement?
1 Possibility #1: they disagree about whether to accept »11’s assessment that 910 is at least 30 days
2 Possiblity #2: they agree to accept »y1; disagree if animals have abbreviated gestations
3 Possibility #3: all agree that gestations are only full-term; they disagree about 19123 nvn nxpn in that case
4 Possibility #4: all agree to apply 19125 nyn n¥pn; disagree if 10t 901NN (before day#8) enters corral for 2”yn
(a) Supporting xr772: W™ - 01 0NN enteres corral for 2”yn; just like 7132
(i) 792 is wiTp before it is fit for offering, so too with nnna 1wyn
(ii) Challenge: why not infer from w7p — which aren’t 17p until they are in a fit ynr?
1. Answer: 1121 is more similar to 1wyn
a.  Sxm cannot be redeemed, even if it gets a n
b. o nwiTp applies to them, even if mn *ya
c. A1 their nmnn (unlike »WTP NNN) is not offered
d. 797K eaten by proper owners, even if D Y9y
2. Challenge: mwTp are more similar to Twyn
a. 7or could be male or female, unlike 7132
b. w177 requires sanctification, unlike 1131
c.  nunpznot a gift to 0nd, unlike 122
d. vmwa applies to all animals, even non first-born (unlike 7132)
3. Answer: he infers it via w"1 of nrayn:nayn (vv. 1-2)
I Miscellany
a  Defintion of 120”21 - per shepherds’ report — an animal that blocked the embryo; Y®1nw — blood bubbles
b Requirement to show 91’0 to 03/ means Dan N1 (experienced shepherd); non isn’t familiar
¢ ~7on’1 we have a tradition of 40 days of gestation before 191 is formed; how long for animal?
i 971(to »an): isn’t this answered by »yr (30 days for g1o0)?
ii  Rejection: that is for mating; she won’t mate for 30 days afterwards
IV Revisiting case of mwn — buying from non-Jew; what about buying an animal from 9x7v°?
a 37 assume it hasn’t yet birthed (2»n); if it had, the owner would have bragged about it
b Snmww: pav; he may not have announced it as he thought the buyer purchased for nomv, and it doesn’t matter
¢ jpnr /7 assume it already bore a child (2709); else, he would have notified the buyer
i Proposed support: k1 — if seller didn’t notify about selling mother/child on same day, vmw w/o concern
ii  Block: in that case, it is the seller’s responsibility; here, it is buyer’s onus
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